
Roof bar kit Sprinter H1/H2, 3 bars RR240537000

Max.

i

Max.

1

6x62885 3 x 73213

12 x M8x16 18 x M8 6 x M8x256 x R6288

6 x R6283

R6600

10

2

M8x16

M8

20Nm

R9032

6 x 62926

8.6 kg=

M8x25

20Nm


